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Note : There are two sections in this paper. Section - A is
compulsory. Answer any three questions from
Section - B

SECTION - A
1.  Following are ten multiple choice questions. Each
question is having four choices, out of which only
one choice is correct. Find the correct choice.
(a) WWW stands for : 10x2=20
(i) World Wide Web.
(ii) - Window Wide Web.
(iiiy Web Wide Window.
(iv) World Wide Window.

(b) Computational complexity can be
categorised into :

(i) linear
(i) nonlinear
(iii) both linear and nonlinear

(iv) none of these
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(e)

(f)
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Which of the following is not related to

object oriented programming ?

(i) Class (i) Object

(iif} Inheritance (iv) Complement
Which of the following is not true for data
dictionary types ?

(i) Integrated.

(i) Stand alone.

(i) Both Integrated and stand alone.
(iv) None of these.

Flow charts show the flow of :
(i) control.

(i) data.

(iii) both control and data.
(iv) none of these.

LAN stands for :

(i) Logically Advance Network.
(i) Local Area Network.

(iii) Linked Area Network.

(iv) Large Area Network.

The operations of the web mainly relies on

as it is a means of interacting

with users.
(i) Hypertext (i) Simple text
(iii) Browser (iv) Internet



(h)

(®)

0)

(b)

Information is obtained through processing
of

(i) knowledge (if) data
(iif) link on web (iv) all of these

In general computational complexity is
measured in terms of :

(i) time.

(i) space.

(iii) either time or space.

(iv) neither time nor space.

TCP stands for :

(i) Transmission Control Protocol.
(iij) Terminal Control Protocol.

(iii) Transaction Control Protocol.

(iv) None of these.

What is information ? What is discipline-
depéndent information ? Explain with an
example.

What is Multiple Inheritance ? Explain
advantages of multiple inheritance.

3.  Whatis decision tree ? Explain the use of decision

tree with the help of an example.
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4 (a)
(b)
5. (a)
(b)
6. (a)
(b)

7.  Write short notes on following :

(@)
(b)
(c)
(d
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SECTION - B

Explain minimum spanning circle with an

example.

What is data dictionary ? Explain four rules
used in construction of data dictionary.

What is decision table ? Explain five sections
of a decision table.

What is Polymorphism ? Explain advantage
of Polymorphism.

Explain space complexity of a program with

an example.

What is Gopher ? Explain uses of Gopher.

World Wide Web.
Program Complexity.
Scope of Information.

On-line Processing.
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WWW &1 3719 §

(i) World Wide Web.

(i) Window Wide Web.

(ili) Web Wide Window.

(iv) World Wide Window.
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(c)

(d)

(f)
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LAN &1 319 § :

(i) Logically Advance Network.
(i) Local Area Network.

(iii) Linked Area Network.

(iv) Large Area Network.
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(d)
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(a) World Wide Web.
(b) THERY Sfecrl
(c) I F HEGA



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

